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50cm 0.10 0.14 0.14 0.16 0.16 0.14
%I | 2E | 5828
1 m 0.09 0.09
. INE 50cm 0.09 0.10 0.11 0.11 0.10 0.10
=N (%*!) 5828
Al 1m 0.10 0.10
50 0.10 0.10
2| F48 | 28 |58128 —
m 0.10 0.10
50 0.09 0.09 0.09 0.09 0.09 0.09
3| mo | 4E |[58128 —
1m 0.09 0.09
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m 0.09 0.09
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6 #e | o8B | 6H28
m 0.11 0.11
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7 | J\BHE | AE | 6828
1m 0.09 0.09
. 50cm 0.10 0.10 0.09 0.10 0.10 0.10
8 =3 | 2E | 6838
1m 0.10 0.10
N 50cm 0.07 0.08 0.08 0.09 0.08 0.08
9 | k& | 2E | 6H3H
1m 0.08 0.08
N 50cm 0.08 0.08 0.08 0.08 0.09 0.08
10 | LEAH| ~E | 5H2H8
1m 0.08 0.08
. 50cm 0.09 0.09 0.08 0.09 0.09 0.09
11| 8/ | 2B |5A28H
m 0.08 0.08
50cm 0.09 0.09 0.09 0.08 0.09 0.09
12 | EIG A& | 5H28H °
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1m 0.08 0.08
50cm 0.09 0.09 0.10 0.10 0.10 0.10
14 [#)H| ~E | 6848
m 0.09 0.09
50cm 0.09 0.09 0.10 0.10 0.10 0.10
15 |AT/B| 2E | 6868
m 0.08 0.08
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1m 0.11 0.11
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1m 0.08 0.08
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22 | T | AF |5A128
1m 0.11 0.11
_ 50cm 0.09 0.09 0.10 0.12 0.12 0.10
23 | HFEHE | 2B | 6H9H
1m 0.10 0.10
50cm 0.10 0.11 0.11 0.11 0.11 0.11
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1m 0.08 0.08
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1m 0.08 0.08
50cm 0.08 0.09 0.09 0.08 0.09 0.09
26 | E4H A& | 58308 0.09
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